=
I ;; 22, HETHINIRAERE |23 REREREE |24 HINEEEHY
4| ER  BFH &L | % NBERL [F2F ADTFABEY)
EEIGi 1 1,207,334 11 25 21 10.65
EFmH 12 40,436 13 10 2 15.79
7= 10 51,641 27 A 30 15 12.93
mEf 2 202,975 23 A 2.1 25 9.67
TES 8 70,292 12 25| 24 9.76
JAlgTH 4 93,557 21 A16 7 14.38
BET™H 7 70,436 20 A 15 8 14.26
TiEFKT 13 36,518 29 A 50 10 14.01
mA+THh 3 113,806 22 A18 3 15.77
&Emmh 5 86,638 16 0.5 31 8.73
1l 6 75,465 7 46 26 9.59
BERT 31 5,920 31 A8 13 13.53
=T AT 27 9,125 3 11.3 1 16.54
H EFET 28 8,249 32 A 8.1 6 14.47
ZZH BT 30 6,205 17 05| 22 10.63
e+t 29 8,114 10 26| 33 7.16
B 32 5,054 30 A 55 32 7.48
=rF 21 12,876 2 13.3 19 11.59
A LLET 24 10,909 33 A 88 4 15.01
REHRT 22 12,695 34 A 126 11 13.81
T TErT 25 10,890 25 A 29 14 12.98
yNIIESH 33 3,671 19 A03| 34 7.14
LT 9 64,787 9 27 29 9.30
=€) /T 16 18,420 26 A29 16 12.92
bt 1EHT 19 16,279 24 A 22 18 11.81
& )11 BT 15 28,246 8 39| 28 9.38
5 %0 AT 18 16,349 18 A 0.1 9 14.14
EIRET 20 13,761 1 36.4 12 13.60
BHE# 17 16,620 15 09| 30 9.14
FEETET 23 12,605 5 47 23 10.09
/a5 + BT 11 46,599 28 A 3.1 5 14.89
XA 26 10,287 14 0.9 17 12.67
=FEH 34 3,293 4 65 20 11.36
vy 14 29,382 6 46| 27 9.52
= 5E 2,419,434 1.1 11.30
FER EK28EE ERK28EE TRk28%E6A1H
=g HETHHEEMET HETHHRFE M BEEUYRA-ZEBRE
HFT BHEt R Bt EERE (5, D)
WA . BEEEL
k= (BEEHBEEH

26. BEFH

(BEFM(AOFAHR)

56.64
52.64
50.11
48.58
41.84
38.06
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27. EXFTUEEEH

HETH 2, ,ﬁ% 25. BRBIEH 26. BEH 27. BEFEEH

L BGEL [EAOFALEY) | BAL [E2mAnTFAS:Y) | IBE (AN (1BEFHEY)
EEIGi 7 650| 16 49.26 5 8.89
EFmH 6 6.66 8 53.56 30 5.02
7= 5 6.74 15 49.46 21 5.92
mEf 22 3.75 26 40.02 1 11.70
TiEm™ 17 445 29 38.06 6 8.31
JAlgTH 9 6.13 18 48.68 8 7.92
BEM 3 9.31 2 62.00 22 5.92
TiEFKT 4 7.62 4 56.64 28 5.11
mA+THh 2 10.71 1 65.33 16 6.29
&Emmh 16 4.47 33 34.55 12 7.21
1l 18 427 24 41.84 10 7.64
BERT 30 2.93 14 50.11 34 3.60
=T AT 1 11.81 5 56.41 27 5.11
H EFET 25 3.53 6 5577 20 6.01
ZZH BT 24 354 25 4181 32 452
PlAIIE s 31 2.86 34 32.93 9 7.85
B 34 2.14 20 47.01 7 7.95
=EA 32 258| 30 37.36 4 9.02
A LLET 13 472 13 50.31 31 499
RERT 28 3.10 19 4858| 23 5.72
T TErT 21 3.92 9 52.64 13 6.91
yNIIESH 33 238 21 45.24 2 10.32
LT 19 407 31 36.84 11 7.41
=€) /T 27 3.19 10 52.33 19 6.10
th E{EHT 11 5.29 23 4315 17 6.24
& )11 BT 15 4.47 32 35.53 14 6.53
Fagsiliing 12 499 17 48.74 15 6.45
ERET 8 6.26 3 5793 24 5.50
BHE# 20 400 28 39.22 3 9.26
FEETET 23 3.58 27 39.56 25 5.12
/a5 + BT 10 5.85 12 50.70 18 6.23
XA 26 3.26 11 5193 33 433
=R+t 29 2.99 7 55.02 29 5.07
vy 14 472 22 4497 26 5.12
= AR 5.99 47.79 7.89
ER ER28E6H1H ER28ZE6H1H ER28E6H1H
=g BFEEUYR-FHAR [BFLVSA-FHRAE |BEEVTR-FERE
HFT L. BEEEL wEE BEEXY kL. BEEEL
k=

(N(IBERRSHED))

9.02
7.85
6.53
6.10
5.50
5.07
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A 2 *;,;; 28. BEEMMAEEE (20 WERBHEESE |30 ALEXEEERHN
£ B [sa@egz A u=0 | B (B AH B =& AOFALY)
EEIGi 8 2,313 1 175,133 32 1.05
EFmH 4 3,005 9 14,304 16 2.04
7= 7 2,323 13 7,107 29 1.17
mEf 9 2,216 2 102,575 5 2.75
TES 16 1,599 7 23,352 18 2.01
JAlgTH 1 5,820 3 61,173 15 2.06
BET™H 20 1,353 8 15,545 7 2.58
TiEFKT 27 880 15 4,468 22 1.96
mA+THh 14 1,749 10 14,008 25 1.52
&Emmh 3 3,204 4 40,142 27 1.42
1l 10 2,115 5 31,339 24 1.65
BERT 29 611 31 226 30 1.14
=T AT 2 4011 21 2,968 14 2.08
EES ) 18 1,511 27 1,103 4 2.90
ZZH BT 15 1,711 25 2,122 31 1.08
e+t - - - -| 26 1.48
B 5 2,982 20 3,190 2 4.40
=rF - - 29 351 33 0.78
Z< LT 23 1,147 28 1,089 21 1.98
REHRT 13 1,798 16 4,406 6 2.72
T TErT 25 997 26 1,176 19 1.99
KINF+ - - - - 10 2.47
LT 6 2,430 6 29,721 20 1.98
=€) /T 26 938 22 2,834 3 2.95
bt {ZHT 28 879 23 2,777 12 2.22
51| BT 19 1,369 14 5120 28 1.36
5 %0 AT 21 1,274 19 3,300 17 2.03
EIRET 12 1,835 17 4018 8 2.47
BE& 11 2,070 11 11,053 1 444
FEETET 24 1,104 24 2,451 9 2.47
/a5 + BT 17 1,534 12 8,898 13 213
XA - - 30 334 34 0.74
=FEH 30 373 32 127 11 243
Esyilig 22 1,198 18 3,868 23 1.81
= 5E 2,229 580,975 1.56
ER ERK29F TER 295 ER30E6H1H
A FRS0E TEMHAE | FRI0E TEHHAE | THR0E TEHHAR
HAT RBEEEL BEEESE RBEEEL
EEAHIIFRI0ES
k= R1B8#%E
(FH(EEEFEIALED)
3,004.97
2,216.41
1,748.76
1,369.07
1,104.00
610.86
9)
28. &SRS 0 40km




arig |01 MERERAY (32 WERMRER (30 ARELE
FANRMEES: IBfL | A NBRL |7 ms 7—1 k1Y)
EEIGi 1 352 1 7,571 7 60
EFmH 11 29 13 476 15 38
7= 14 21 17 306 2 85
mEf 2 132 2 4,628 21 34
TiEm™ 3 56 4 1,460 5 62
JAlgTH 7 47 8 1,051 3 63
BET™H 4 55 7 1,149 25 29
TiEFKT 12 28 12 508 29 23
mA+THh 5 53 9 801 32 20
&Emmh 6 48 5 1,253 6 60
1l 9 44 3 1,482 11 43
BERT 30 3] 30 371 31 21
=T AT 25 7 27 74 9 52
H EFET 23 8| 28 73 10 45
% HET 30 3 23 124 4 63
PlAIIE s 33 2| 32 33 17 38
B 27 4 25 107 13 41
=rF 30 3 29 51 1 142
ALLET 25 7 26 95 19 36
RERT 21 11 20 245 27 25
T TErT 23 s 24 118 24 31
yNIIESH 34 1 34 16| 26 29
LT 7 47 6 1,223 18 37
=€) /T 17 17 18 302 34 10
th E{EHT 18 16 16 316] 20 34
& )11 BT 16 18 14 374 23 32
Fagsiliing 20 12 19 259 8 54
EIRET 22 9 22 219 33 18
HE# 13 23 11 534 28 25
FEETET 19 15 21 222 14 40
/a5 + BT 10 38 10 580 16 38
K BHT 27 4 33 25 12 42
=FEH 27 4l 31 34| 30 23
=il 14 21 15 323 22 34
= 5E 1,146 26,069 43
ER ER30EG6H1H ER30E6H1H ER 295
=g ER30E TEHMETHRE | TR30E TE KT |HBTH B2 25 K4 ()
HFT BEEEE BEEESE BEWMKESE
HihEiEILFER295E7
k= A15BRE

33. BEEHE

(FHEHEE17-LHE)

62.94
51.92
40.23
36.04
30.54
23.44
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i |34 RREHE 35. BEY 36. IERRILE

& B [FROEREEW ] A [P EHE (%
EEIGi 6 6,302 1 2,447 19 61.95
ERTh 11 4,724 18 561 12 65.42
7= 2 8,756 9 1,005 4 79.10
mEf 13 4566 3 1,879 14 63.86
TES 3 8,280 7 1,122 15 63.46
JAlgTH 10 4,799 8 1,004 27 53.47
BET™H 12 4689 14 755 18 61.99
TiEFKT 21 3,602 22 397 28 51.64
mA+THh 27 2,630 5 1,639 17 62.29
&Emmh 4 7,791 6 1,480 11 69.93
1l 16 4344 4 1,715 22 58.08
BERT 8 5,244 33 82 2 81.71
=T AT 14 4551 30 178 16 62.92
H EFET 20 3,758 31 165 21 60.61
% HET 7 5,325 23 338 3 79.88
bldllEs) 23 3,508 28 248 5 77.82
B 28 2544 32 114 10 71.05
=rF 1 14,290 27 303 1 85.15
Z< LT 24 3,280 26 311 24 56.91
REHRT 32 1,165 16 704| 31 37.93
T TErT 22 3,509 20 436 8 71.56
KINF+ 30 2,373 34 59 33 32.20
LT 26 2,949 11 841 32 36.03
=€) /T 34 587 13 801 34 20.85
bt 1EHT 18 4188 21 425 9 71.06
51| BT 25 3,115 10 902 13 63.97
5 %0 AT 15 4457 19 460 30 4152
EIRET 33 997 17 582 25 56.87
BE& 29 2,406 25 320 26 54.69
FEETET 31 2,142 12 817 29 42.23
7e 5+ H7 9 5,044 2 1,935 7 75.97
XA 5 6,574 24 324 23 57.41
=FEH 17 4233 29 189 6 77.25
Esyilig 19 3,905 15 717 20 61.09
= 5E 4,699 25,345 60.71
ER ERK29F ER27E2H1H SER27E2B1H
=g HETA Bl LR G |EMERV YR ERELUHR
HFT EWKESL BMKESL EWKESL

BRBITR27E2R1 RERRIL, BEHIERE

e AR 30all k. RIZEEYRTE

BEMS0BALEDER

()
1,715
1,005

755
460
324
189

40km
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37. Mt R A OB

eh ~ N

ETA & |4 | 38. BEER 39. MEMEEH
% | IBfL (% B  m(TkmE=Y) | IBAL A

EEIGi 25 A 25.49 6 512.9 3 127
EFmH 17 A 2220 15 321.3 7 75
7= 14 A 21385 32 46.4 8 68
mEf 19 A 23.46 7 483.3 18 28
TES 29 A 2765 26 1340 30 5
JAlgTH 9 A 20.52 28 121.7 20 21
BET™H 18 A 2337 3 652.3 6 89
TiEFKT 33 A 3423 11 366.7 12 45
mA+THh 20 A 2402 10 418.3 1 256
&Emmh 8 A 20.09 4 584.7 23 18
1l 15 A 2213 23 162.2 5 94
BEHT 22 A 25.10 8 479.6 19 22
=T AT 2 A 16.62 33 21.6 26 13
H EFET 3 A 16.80 1 1,288.7 32 3
% HET 6 A 17.76 - - 27 7
e+t 10 A 20.70 21 199.5 24 16
B 21 A 2491 30 63.1 27 7
=rF 1 A 1556 17 2735 32 3
ALLET 4 A 17.04 12 356.3 10 53
REHRT 28 A 26.83 31 53.2 16 37
T TErT 5 A 1771 25 138.2 9 58
KINFt 34 A 35.80 14 322.9 30 5
LT 32 A 33388 22 179.0 4 97
=€) /T 31 A 33.33 18 251.6 11 48
bt 1EHT 16 A 2218 19 243.6 24 16
51| BT 7 A 18.32 29 118.9 17 33
AN ET 23 A 2513 9 465.0 29 6
EIRET 13 A 2177 24 149.0 13 41
BE& 11 A 2141 20 2044 32 3
FEETET 24 A 2547 27 130.2 14 40
/a5 + BT 12 A 21.42 16 294 1 2 187
XA 26 A 26.25 2 840.1 20 21
=FEH 30 A 2879 5 535.3 22 20
Esyilig 27 A 26.43 13 325.5 14 40
= 5E A 23.23 283.6 1,602
ER T2 2 A 18- FR21E2A 18 | T RRL30E & ERK30E3H318
=g ERELUHR METHFTEHER DR  [EFROYHERESR
HFT BWMKESL E BT IREER BRI HEER
k=

39. MEMEEH

0

40km
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HETH A |1 40. MR 41. RELMEE 42 EER

&\ gkt |7 NEGL |ha (RS L1=Y) | B [m (Tkm2f=Y)
EEIGi 1 2,209 10 9.26] 31 95
EFmH 24 244 2 15.06 10 374
7= 20 359 5 1149 24 184
mEf 14 571 8 9.83 32 45
TES 22 301 32 327 34 16
JAlgTH 10 779 28 4.20 33 31
BET™H 8 899 17 7.33 22 219
TiEFKT 16 527 20 6.49 16 308
mA+THh 3 1,714 14 824 21 225
&Emmh 15 542 11 8.77 19 258
1l 4 1,412 22 6.19 7 463
BERT 32 66 27 5.07 13 342
=T AT 33 55 24 6.10 26 147
H EFET 34 19 34 3.07 18 270
% HET 28 176 6 10.76 15 322
PlAIIE s 25 239 13 825 20 256
B 29 122 3 14.23 12 363
=rF 31 79 25 6.03 9 400
A LLET 21 314 16 750 23 192
REHRT 7 902 18 7.25 14 323
T TErT 17 490 9 9.54 5 473
KINF+ 30 95 1 16.62 4 538
LT 5 1,024 15 8.14 6 472
=€) /T 6 1,023 26 5.37 2 824
bt 1EHT 19 399 7 10.69 8 432
& )11 BT 12 628 31 375 25 162
Fagsiliing 18 455 29 4.05 11 363
EIRET 11 709 4 11.57 3 775
BHE# 27 216 33 325 29 116
FEETET 9 866 21 6.30 1 1,027
/a5 + BT 2 1,828 12 8.40| 27 139
XA 23 279 30 378 28 130
=FEH 26 225 19 6.95 17 280
vy 13 605 23 6.15] 30 115
= 5E 20,371 7.66 337
ERX FERL271%&2H18 FR21%&2R18 FRL30EE
=g ERELUHR ENRELUHR THETH TEA B DK 35
HFT EWKESL BMKESL B BTH R ELER

MEHHE, RELUKE [MREE., ®ELAE

k= BN hall EOHE FEMThall EDHE

43.

BEMEEHY 0

()

128
21
1

40km




5 TR ; 45 A3
AT & | 43, REFEEH 44 45. BABUHRIE
&l Bk A ERolES ML [P A Sy s

EEIGi 7 130 9 80| 33 460,558
EFmH 5 384 6 230 15 1,008,393
7= 11 79 10 67| 22 742,401
mEf 15 38 16 38 34 432,058
TES 10 99 12 61 31 568,257
JAlgTH 1 482 3 302 26 650,945
BET™H 4 392 2 381 30 579,763
TiEFKT 2 468 1 388 23 720,735
mA+THh 14 46 11 65| 28 603,122
&Emmh 8 128 7 125 27 605,663
1l - - - - 25 679,030
BERT 12 71 14 43 9 1,169,263
=T AT 13 52 15 a1 2 3,347,213
H EFET 17 21 19 12 16 996,143
ZZH BT 18 17 17 17 13 1,023,812
e+t - - - - 4 2,082,370
B - - - - 3 2,307,633
=rF 19 10 18 13 14 1,012,282
A LLET - - - - 8 1,182,166
REMT - - - - 6 1,516,409
T TErT - - - - 11 1,136,283
KINF+ - - - - 1 3,910,910
LT - - - 29 587,138
=€) /T - - - - 10 1,163,857
bt 1EHT 9 125 8 111 12 1,118,512
£ )| BT - - - - 32 486,938
AN ET - - - - 20 870,621
EIRET - - - - 5 1,807,910
HE# - - - 24 714,316
FEETET - - - - 18 929,303
/a5 + BT 15 38 13 56 19 914,032
XA 6 301 5 237 17 969,138
=FEH - - - - 7 1,396,680
vy 3 414 4 257 21 791,223
= 5E 3,295 2,524 612,212
ERX FER30EITATH FERX30FE11A1H FRL30EE
=g BELUYX BEELUYR THETH TEA B DK 35
HFT EiKES BMKESL B BTH R ELER
k=

(BT ASEDEERELE))

2,082,370.26

1,169,262.62

1,012,281.84

914,031.66

714,315.86

45. BABUR AR

0

587,137.69

40km




